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| PRE BOARD EXAMINATION 2014
CLASS XII

ECONOMICS
TIME: 3Hours M.M:100

General Instructions
1.All questions in both the sections are compulsory.

2.Question nos. 1-5 and 17-21 are very short questions carrying 1 mark .They are required to
be answered in a sentence or two.

3.Question nos.6-10 and 22-26 are short anweres carrying 3 marks .They are to be answered
in 60 words.

4.Question nos. 11-13 and 27-29 are of 4 marks and are to be answered in 70-80 words,

5 Question nos. 14-16 and 30-32 are to be anwerred for 6 marks. With the word limit of 100
words.

SECTION-A

1.Give two examples of variable cost.
1.9Rade AT & ar 36T aIfiT|

2.Which type of market is experienced in the daily life.
2. FTIROTAAT fFE YR T ST 8T SidT g ?

3.What would be the effect on quanity supplied when there is increase in economic subsidy for the
producer.

3.HHN & Ve HERIAT &oT T Yfcd T AT FeA1d G ?

4.What happens to equilibrium price of a commaodity if there is an increase in its demand and decrease
in its supply.

AAET A g AT qfcd A T, HJolel HIAT HT FhE GhR TGHIAT A & ?
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5.What change will take place in marginal product ,when total product decreases.

5.3 3cUle & R X AAIT 3cdle R SR 4T JTT =3 ?

6.Point out the relationship between AVC and AC with the help of a graph.

6.3 ga aRadsr e T 3itaa aeTg A GEEY TASe Sy ?

7.Show the effect of the following on demand of a commodity.
7. AeAfAf@a &1 ART W 99T G S |

i) increase in price of substitute goods. ii) favourable government policy for the consumer.

ITIEATI a& &1 HIAT (i) TBR T Ieqeher i

8.Define Unitary elasticity of supply with the help of a graph and a schedule.

8.9t T gehTS & SUET AT T GRHANT , dh AT dlfelehl GaRT FAS ?

9.A consumer buys 80 units of a good at a price of Rs.5 per unit.Suppose its price elasticity is (-)2.At
what price will he buy 64 units.

9.FFeY ¥ #r 80 ST 5%9F T FHd W AN Afa § Al AT A= () § O Fa Fea
W TE] A 64 FRISAT AN SAAA 2

10.Distinguish the effect of change in supply due to increase in price and due to fall in cost of
production.

10.9&] &1 HIad & gig TUT 3cUesT ofeTd & AT & gfcd T gl T 91 & R TS
I |

11.Explain the chain effect of increase in income of buyer on it demand.
113980 & 31T A gig T ANT G gl alel TehlT THE T Tl Siferd ?

12.Show the features of a monopoly market.

12.THIISR R &1 fFAvae gHse|
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13.Explain the implication of  product differentiation ‘ feature of monopolistic competition market.
13. g&q fase &1 QAT 1 g1 FHSAV|

14.What is a budget line?When does it shift upward.Show the indifference curve schedule of

Srikant who has 80 Rs to purchase bananas and orange s at the rate of Rs.4 and 6 respectively.

14.957C 3G 47 § ? Soid Y@T A gig & 39 T FHASIA & dliciehl T Heg d Ahid H IC
AT FITT I el T T HT HAT 4 T 6 T9T ¢ |

15. Under which conditions does the Law of Increasing returns to factor and Law of Negative returns

To factor operate.

15.9 dUT HKUNcHS FRF YTahdd FIAT & HRUT TS Y |

16.Explain Consumer equilibrium with the help of Indifference Curvve approach.

16. 3UIFAT HooldlIC AR |

SECTION-B

17.How does Legal reserve ratio check inflation?

17.LRR el GohR HTTEBcT &l Aehel A &IH 377 & 2
18.State any two sources of supply of foreign currency.

18.1e=l Her & qfet & ar T ford |

19.Why is interest payment not considered a capital expenditure?
195971 T ST GoTRTeT &g &A1 e AT SATell ?
20.Who frames the fiscal policies in a country.

20.TThT AfIAT T gaATar § 2

21.How does increase in MPC effect the Investment multiplier.
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21.%dcd 3UNET Ugfcd T fAAR 0N W FAT IHEG ST ¢ 2

22.Distinguish depreciation and devaluation of a currency.Why does a economy adopt devaluation.
22,757 # FoT §H AT 3Hed H 7 HaW § ?

23.Explain the elements of current account of balance of payment.

23. AT AV H T HiA @ A fAeT FHr Sl § 2

24.Calculate Sales from the following data

fyhr s g Ao afe

i)NVA atfactor cost 560
NVA il olleTd

ii)Consumption of fixed capital 60
o &

iii)Intermediate consumption cost 1000
HEGA 39T

iv) Exports 200

forafa

v)Indirect taxes 60

3IcET Y
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Give reason, how the following should be treated in the calculation of National Income
frAfaf@d & TS 3T 7 59 yeR @ Jar g 2

i)Expenditure on fertiliser by farmers

fFaTell SanT 34T &1 39T

li)purchase of atractor by a farmer.

frareT garT dereX & @lig

25.What is Revenue Deficiet?What would be its implications.

25 31STEd ©TeT FAT § 23T AT JHT giam g ?

26.What is credit creation?Show it numerically.

2689 T &1 AT fFg ya FAr & ? 3idsr T JAeg ¥ gH |

27.From the data given belo w calculate (a)Investment expenditure ,(b)Consumption expenditure.

27.f332T =TT AT IGANT IF AT HoT IS

Given i)Equilibrium level of income Rs.5000

3 F Tedd TR

iiJAutonomous consumption Rs.500
Tdca ITHET
iii)MPC Rs.0.4
AT 3T Fgfed
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28.Explain the ‘Banker to the Government’ and "Clearing House Function’ of the Central Bank.
28. 1T dhT T« TIHN HT deh " TUT " FHAMT IE"HA & IO HY |
29.What purpose does the Government Budget solve?

29. g9l & AT 32T & ?

30.Describe the underemployment equilibrium situation of aeconomy.With the help of a graph show its
effect on output ,employment and income on a economy.

30. Holel W 3e9 USEIN FAT § ? dsh T HAag A $EHI USHIR 3cUlg T 3T R 3

THSY |

31.Explain consumption function ,with the help of a schedule and diagram .

31. 3YHNET BeAd I dIfoihl JAT A6 A HAce T FHSY |

32.Calculate (a) Gross National Product atf ¢ (b)Net National Disposable Income from the following i) i)
Net indirect tax 800

3YcTET Y

ii) Net Domestic Fixed Capital Formation------ 500
qg e o i faor
iii)Consumption of Fixed Capital----------------- 100

iv)Private Final Consumption Expenditure---5000
fasi 3user <o

v)Government Final Consump.Expenditure—2000

TR &1 3faq 39 =39
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vi)Net Factor Income to Abroad------------------- 50

facer & g @

vii)Net exports (-)150
qg T

viii)Change in stock (-)30
H A aRade

ix)Current Transfer from Rest of world-----70
3o M @ =Te], FEATRIT

x)Compensation of Employees---------- 2500
AT &1 TRHFS

xi) Current Transfer from rest of world---40

el gt 7 aTe] gEdTReT

MARKINNG SCHEME

SUBJECT —ECONOMICS

CLASS XiI
1.1/2 mark of one example —expenditure on raw material ,fuel,electricity,
2. monopolistic
3. supply will increase.
4. Eqilibrium price will increase.

5.mp will be negative.
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6.i.AC and AVC never intersect with each other.,Il.The difference between AC and AVC decreases,iii
This difference is equal to AFC.

7.1 % for one sub part i) demand would increase ii)Jdemand would increase

8.1 mark for defination,1 mark for schedule and one for the graph.

9.1 mark for formula,1 mark for problem solving ,1 mark for correct answer.P1-5.50 Rs.

10.1mark each for four points of differences between change in supply and change in quantitiy supplied.

11.2 marks of change in demand and supply 2 for graph.

12.1 mark each for four points of the features.

13.1 mark for the graph ,one and a half for showing full utilization ,one for showing underutilization.

14. 1 mark for defining budget ,1 for showing its shift ,and 1 each for four features of IC.

15.3 marks for the 3 reasons showing the Law of increasing returns,3 mark for 3 reasons showing
Negative returns.

16.1 mark for price line,1 for showing IC,1 mark each for one for giving two conditions 1 mark each
for showing the curves.

17.when it isincreased.

18.1/2 for one reason

19.because it does not reduce the liability or increase the assets.

20.government

21.k also increases

22.one Imark each for each sub —subpart.

23.1 mark each for one component

24. one for formula ,1 for changing the formul, 1 mark for substituting the values.Sales=1680
25.1 mark for definition one each for two implications.

26.1 for definition, one mark for formula one for numerical expression —cr=1/crrxI
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27.2 marks for Investment multiplier, 2 for consumption expe nditure ,y=c+l, C=a+b(y),I=2500,C=2500
28.2 marks each for both the terms.
29.1 mark each for four points.

30.3 marks for the graph ,one for its effect on output ,one for the effect on employment and one mark
for the effect on income.

31.2 marks for definatiion,2 for the graph, and 2 for the schedule.

32. 1 mark each for b oth the formulas,one each for solving the problem and one each for correct
answer. |)GNPat fc ----6570. Net National Disposable income 7300.
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